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// a : EEE HiE, val @ H2AHE= 2L, n : BIE ZO|
bool binary(int a[], int val, int n) {
int left = @, right = n - 1; // left: BiZES| O 2% idx, right: BiES| OH Q=X idx
while (left <= right) {
int mid = (left + right) / 2; // &2t idx
if (a[mid] > val) right = mid - 1; // &=2(2/0| O ACLH, QEZ2 = ZQ X
else if (a[mid] < val) left = mid + 1; // =212}0| ¢ =CtH, 222 = L X
else return true; // S0l &= 2f AAeH GHA =2

}

return false; // left == right E UWNX| 2 FJUCHH, Fo2{= 20| Q= 2 i,
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// a : JAEE BiY, val : o= 2f, left: BHEC| TH 2% idx, right: B{ES T Q=
bool binary(int a[], int val, int left, int right) {

if (left > right) return false;

int mid = (left + right) / 2; // &2 idx
if (a[mid] > val) return binary(a, val, left, mid - 1);
else if (a[mid] < val) return binary(a, val, mid + 1, right);

else return true;
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typedef unsigned long long ull;

ull ans = 0;

// left : HTH| =0|9| &It (0), right : HCHI| =0|Q] At (LIRS = JHX
ull left = @, right = max_len; // max len : LI2= & 2t 71 29| =0

while (left <= right) {
ull mid = (left + right) / 2;
if (check(mid)) { // =0|E mid2 ol £tHL|, mO|& O|A JFHZr 2~ QICt
ans = max(ans, mid);
left = mid + 1; // ESVIE O 24T EC
} else { // =0|2 mid=2 ol £CL|, mO|E O|A It 24 giCt
right = mid - 1; // Z2TO|S LH2{0F otC}

cout << ans << '\n’;
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bool check(ull x) { // 0|2 x2 g f mO|Ef O[AF JpH2H & Ql=Dt
ull total = 0;
for (int 1 = 0; i < n; i++) {
total += (len[i] >= x ? len[i] - x : 9);
}

return total >= m;
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« Al HOIO|A|Q| O] 2 EFAH / Parametric searche X& CH2C}

while (left <= right) {
if (..) left = mid + 1;
else right = mid - 1;
}

e left, right, mid?2} =2t OtL| 1 2 =0|2| 20|
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while (left <= right) {

if (..) left = mid + 1; >

else right = mid - 1;

while (abs(right - left) > 1le-6) {
if (..) left = mid;

else right = mid;
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